
Unit-3/Part-II Economics (Hons.) Banking 

 

1. How is State Bank Of India different from other nationalized bank: 

(a) It is a Government bank  

(b) It acts as an agent for the place where the Reserve Bank does not have branch. 

(c) It gives priority to agriculture and credit. 

(d) It gives more importance to the achievement of national goals than its profit. 

 

भारतीय स्टेट बैंक अन्य राष्ट्रीकृत बैंकों से ककस प्रकार भभन्न है : 
(a) यह सरकार का बैंक है | 
(b) यह, जिन स्थानों में ररिर्व बैंक की संस्थाएं नह ं है र्हां ररिर्व बैंक के एिेंट का कायव 

करती है | 
(c) यह कृषि एर्ं ग्रामीण साख को प्राथममकता देती है | 
(d) यह राष्ट्र य लक्ष्यों की प्राजतत को अपने लाभ से अधिक महत्त्र् देती है | 

2. What is necessary for the success of the bank rate: 

(a) Country’s economic system should be elastic 

(b) Country’s economic system should be perfectly elastic 

(c) Country’s economic system should be inelastic  

(d) All of the above 

बैंक दर की सफलता के भलए आवश्यक है कक: 

(a) देश की आधथवक व्यर्स्था लोचपूणव हो 
(b) देश की आधथवक व्यर्स्था पूणवतः लोचदार हो 
(c) देश की आधथवक व्यर्स्था बेलोच हो 
(d) उपययवक्त सभी सत्य 

3. The idea of neutral currency was first introduced by: 

(a) Hawtrey 

(b)  Wickstead  

(c) Robertson 

(d) Hayek 

 तटस्थ मुद्रा का ववचार सववप्रथम प्रस्तुत ककया : 

(a) हारे 

(b) षर्कस्ट ड 
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(c) रोबटवसन  

(d) हायक 

4. At present, the Reserve Bank of India issues notes on the basis of the following 

method: 

(a) Minimum Reserve System 

(b) Proportional reserve System 

(c) Full Reserve System 

(d) All of the above 

वतवमान में, भारतीय ररजवव बैंक ननम्न पद्धनत के आधार पर नोट ननर्वमन करता है: 

(a) न्यूनतम कोि पद्ितत 

(b) आनयपाततक कोि पद्ितत  

(c) शत प्रततशत कोि पद्ितत  

(d) उपरोक्त सभी  

5. Pump Priming Expenditure is desired: 

(a) To control inflation 

(b) To control deflation  

(c) In both of the above 

(d) Neither of the above two 

समुद्दीपन व्यय वाांनित है : 

(a) मयद्रा प्रसार तनयंत्रण में  

(b) मंद  तनयंत्रण में  

(c) उपययवक्त दोनों में  

(d) उपययवक्त दोनों में से कोई में नह ं  

6. The optimum ability to create credit depend on : 

(a) Central Bank 

(b) Number of Banks 

(c) Depositors and borrowers 

(d) All of the above 

साख ननमावण की अनुकूलतम सांख्या ककस पर ननभवर करती है: 
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(a) कें द्रद्रय बैंक 

(b) बैंकों की संख्या 
(c) िमा करने र्ाले एर्ं उिार लेने र्ाले व्यजक्त 

(d) उपययवक्त सभी  
 

7. Cheap money means: 

(a) The value of currency has decreased 

(b) The cost of production of the currency has come down 

(c) The cost of acquiring the currency is decreased  

(d) The quality of the currency has degraded  

सस्ती मुद्रा का अथव है: 

(a) मयद्रा का मूल्य घाट गया है  

(b) करेंसी की उत्पादन लगत कम हो गयी है  

(c) मयद्रा को प्रातत करने की लागत घट हो गयी है  

(d) करेंसी की गयणर्त्ता कम हो गयी है  

8. Which of the following is not a part of Indian Money Market: 

(a) IDBI 

(b) ICICI 

(c) LIC 

(d) RBI 

ननम्न में से कौन भारतीय मुद्रा बाजार का अांर् नहीां है: 

(a) आई.डी.बी.आई.  

(b) आई.सी.आई.सी.आई. 
(c) एल.आई.सी. 
(d) भारतीय ररिर्व बैंक  

9. Since when has the different interest rate scheme been introduced in India? 

(a) 1969 

(b) 1972 

(c) 1991 

(d) 2001 
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ववभभन्न ब्याज दर योजना भारत में कब से प्रारांभ की र्ई है ? 

(a) 1969 

(b) 1972 

(c) 1991 

(d) 2001 

10. Which one of the following banks creates credit? 

(a) Commercial Bank 

(b) Land Mortgage Bank 

(c) Industrial development bank 

(d) Reserve Bank of India 

ननम्न में से कौन एक बैंक साख का सजृन करते है? 

(a) र्ाणणजययक बैंक  

(b) भूमम बंिक बैंक  

(c) औद्योधगक षर्कास बैंक  

(d) भारतीय ररिर्व बैंक  

  

 

 

 

   


